T 28FE #HEHRPERMBATRAEELREXRE
EAR:201649826H

ik (B+-

BRI B B B B EE RER)
HH B T A [br K2 e Rk iz K2 e Rk iz K2 e Rk iz K2 e ok |
o/26 [1FBF | 1|28 Kib() MR 1370 2 |BEEF BBK) SR 1372 3 |FHBAIREN) mER| 1373 4 [IME A SH| 137
5 |1RE EBXW k- AR 13”5| 6 | KIE BEXE(1) &S 1379 7 |R% £F(1) &S 1471] 8 [#8K BEH(D i ipilee] 14”3
9/26 200m| 1 1 [RE Ry - FE 2772| 2 |RiIE HEN) EFith e 2870| 3 |HT BEW) mEH 2876 4 |HH () Fhifich 3071
5 |FHE B3 HEH 3072| 6 |fBA HEE(1) T 3074 7 |AXT FHAM) HEH 30”
9/26 1500m| ! 1 |N\ER &) =& 44976| 2 |FRH HAKN) oEF 45474| 3 |BEE KHE(1) b e 4'5875| 4 |fEMLEZBI(T) A+ 500”3
5 |2E@ TFEM) ke 50778 6 |&# K—1) =g 51479 7 | K HFZ=(1) &S 5'3973| 8 |SE&E &{Z(1) =] 54770
9 | K& B&EW) wESP 5'5079| 10 |t&@im FE3E(1) EAF 6'19”9
9/26 3000m| 1 1|8/ E30) chigheh|  102171| 2 | KIE BAE(1) =R 112170 3 |B R B SRR 112777| 4 |4 FEQ) =Rh| 113375
5 |hnsE SR RiEReR|  11°4571] 6 |AHEE EE() W -T\h| 120175
9/26 100mul 1 1 |BTE KM k- AR 1872| 2 |HhAT FEA() k- T 1873| 3 | AL EE(1) =i 2077| 4 |z E5EXRG) b Ay 2572
o/26 [PFET | || BB BT 1273 2 [HE #RIQ sokep|  1275| 3 [l 3) sk 1370) 4 | TR BAEQ) - Eh| 1370
5 | KE FEFREQ =Rgep 1375 6 |FE B=(2 HE+wd 1377| 7 |RKER K#©2 ke 1475 8 | 1532) 1 1477
9/26 200m| 1 1| 2R 2182 oiEH 2670| 2 |fBJt FEH(2) =& 2674| 3 |YE/NEEZ(2) Rk - T 2773| 4 |51 EBEQ) Rk - T 28”0
5 |FIT/INAERQ2) B 28"2| 6 |fBE REQ) #Rik - T 28”7
9/26 1500m| ! L S NE) A+t 4'557°0| 2 | KB K#(©2 oEF 50174| 3 |HK EMND EyEH 50177| 4 |B EKXQ2) EyEH 508”8
5 |tk —iEQ2) E-dvles 51479| 6 |#fE 3LHE(2) =g 51571 7 |FE X&HQ2) k- T 5'46”1| 8 |KE 1LK(2) =g 60270
9/26 3000m| 1 |kE KZE(2) EyrEh 9'4476| 2 |BK E1E(2) =& 9'5374| 3 |¥IT F(2) ZBR| 104176 4 |/INREBRERQ) wEH| 105670
9/26 110mHl 1 1 |KTFT wmAQ2 = 177°8| 2 |FEFHKEQ) k- T 1870 3 |MdH K#H2) k- T 2274| 4 |ZEH H(Q) #R - TR 2274
o/26 PUEFT 1 | [mF OB wEs| 1079 2 [EL WAQ EoEd| 11175 3 |8 AEO) wEh|  112's| 4 |[mEE B my-ES| 12579
2 1 |RK EAQ) H+s 5872| 2 |EHEERILQ2) s 5973| 3 [}O $HHE(Q) ke 10276 4 [#A7T 1EKXKQ) sk 102”9
5 [BK E&©2) Eyrad 10379| 6 | EME A2 St 108”3
9/26 800m| ! 1 |kE K2 k- AR 21472 2 |8RF &) &S 2'1978| 3 |FAK ZFHE®) Ht+s 2'2072| 4 | KO ZF=(1) 5 aice] 229”8
5 |4 FEKRQ@ IR e 2'3179| 6 |[{ELF E(2) EyrEH 24071| 7 | K% B2 ke 24670 8 |fEIL  E(1) S 248”8
9 | X Z=HW oETD 2'5379| 10 |FULE tHEQ2) ke 2'55"2
S AHE(T) BE B LH Q)
9/26 1 1 | ik Eg?ﬁ%rj:\% 5377| 2 |t éf@ gg% 5876 3 |RAIME %’i E%EB 59"
4x100mR H &) B on/NAER(2) X8 BAM) _
e 4] Lo 2 ) i ko)
2 1 |&Ri- TP q,;-ﬁg'ﬁ“,]m 5072| 2 |H+mi *;';k %jk(z) 5171| 3 |=h&h ,”]’545’(' praAl 5174 4 |k =H %%(1) 5272
EFHEEQ BHK EEQ) B BEH(Q2) E PN )
i A
= 151 "
5 |mE® x g
—R EEQ
9/26 |OPFF 100m| ! 1|EE8 #E() mES 18"

1/6



T 28FE #HEHRPERMBATRAEELREXRE
EAR:201649826H

RLERTR (BF-REH
TE

=i AIBHE B A B RS
HH B T A [br K2 e Rk iz K2 e ERE K2 e Rk iz K2 e ok |
OPB¥ KE ﬂﬁﬁ(m EEH ﬂ%}ﬂﬂ(ﬂ ﬁgﬁu%ﬁm @m i?(z)
4x100mR 7%1: ﬂ{ég; HEEOEE0) B EEQ) JKE K2
5 &
T 77 )
0/26 [POBBT ol | |[x&EBENQ Tt imds| 2 |RE Q) b 1mao| 3 [BEOEAD) gy ES| im0 4 [EE AIAG) BT 1m2s
9/26 izgk| ! 1| XKE #EQ) = 4m75| 2 |#TE ZER(®2) H+s 4m62| 3 |EE HEEQ) =& 4m56| 4 |#HEEFEE0) KO 4m15
5 | KILEZ &) bl 2m95
9/26 fasg| ! 1 |BBETHEQ INR R 8m45| 2 [FLIL EiEQ2) =& 8m38| 3 |#AE FE() k- TR Im77| 4 |FEiHE () #R - T Tm12
5 |RKith FEQ2) B - T 6m49| 6 [LLER BEFIC1) HKER 5md46| 7 |FJIl BEE2) =& 5m40

2/6



TH28FE MR PERMERTRAIELHERRS

EAR:201649826H

R (BFF&)

SRR S5 AOE B N BB L RIS
[HH [ 85 @] & [T K& HE Eoex Lo K& = ek Lo K& = ek Lo K& = ek |
o/26 [1FBF | 1 |2@ K1) IMRESR| 1279 2 |BEEF A =Reh| 1372 3 |XE EFM) mEw 1377] 4 (B B0 w1474
5 [Nt A1) R 1671| 6 | KA BAN) tiibiukes 1970
2 1 (s RE0) MEH 1370( 2 |/ #AM) =B 1371| 3 |[#R&a #X0) HR3 - F 1374| 4 | KIE BEFE(D) mEF 1470
5 (2@ EEQ) R 1573 6 |&HHE R ERH 1675
o/26 [PFBT | 1 |#E ) sk 1371 2 | TR BRQ) #Mg-ES| 1373 3 |$E #=Q) | 1377) 4 KR KB skl 1470
5 |Eig 832 R 1474
2 1 |[F =222 HR3 - F 1273| 2 |l ZE(2) K e 1371| 3 | KE #E#EQ) =y 1376| 4 |t k() R3S R 1572

3/6



T 28FE #HEHRPERMBATRAEELREXRE
EAR:201649826H

RLEKER (it?-iﬂ&ﬂ#)

SRR S5 AOE B N BB L RIS
[HH [ 85 @] & [T K& HE Eoex Lo K& = Bk K& = ek Lo K& = ek |
o6 |'FXF | 1| B BRI mohmh| 1378 2 |REAZE) wES| 1379 3 ‘r’rZ'F‘F* (1) &S| 1471 4 |BE RO #yh- B 1475
5 Tk EW =hkkH 1479| 6 [EA EZE1) B+wiep 1572 7 [ERAHEEQ) IMRR A 1574| 8 AKX REW) HnEH 1576
9/26 200m| 1 1 [BR #7H0) HR3 - 2974| 2 kFE B EyrEH 29741 3 [FENILNF A1) HiEieh 2976| 4 [N F2() MEH 3070
5 |/ FEW) EyEHh 3072| 6 |HF FME) ERik - 7B P 3178 7 BT FAA(T) = 3276| 8 HECCA(1) mESH 3375
9/26 800m| 1 1 [7KET DE) =B 22872 2 |=4 fEE) =Bth|  23378| 3 |BE W) FExREd| 23571 4 |HEA BF(®) hifch|  2'3870
5 |RTE Fib(1) IMRIR A 2'40"3| 6 |HL R=®) =& 24078| 7 |HE FR() =i 24974| 8 |/ ERZE®) i - T 2'51"5
9/26 gomnl 1 1 [AE FAO) NN 1479| 2 |8 EKZFE®1) A+ 1576| 3 |kt &I2(1) = 1579 4 [FE EE) Hi - TP 1579
5 |FEBAERF1) #Rih - P 1673| 6 |=l& #WEW) INRR R 20"
2 1 (L7 B4BAC) EyEH 1473| 2 |&HE FHR®O) Hi - TP 1479 3 |FBFHESEN) -+ 1577| 4 [EAHXE®W) INRIR 16”3
5 (@A TER1) =R 1777
o/26 [PFEF | || e B SRep|  1373) 2 |95 BEQ) | 1377 3 (BB EWEQ) | 1470] 4 i BEEO) Wy-ER| 1474
5 | RRXQ) ERH 1477 6 |RE X&Q) MEH 1479| 7 |58 £42 =10 1572| 8 |HRE BEQ Y3 R 1573
9/26 200m| ! 1 |[Eith &) ELdeds 2971| 2 |[BK EH}O) PR 3070 3 |FIIEAF@) L 3071| 4 [E[E AwQ) HE+g 30”1
5 BT BE@ #Rik - P 3073| 6 |FRIZDH(2) fetinbiukes) 3078| 7 &k EROQ) = 3170| 8 [IUF HFQ@) MEH 3178
9/26 800m| ! 1|’ tig® =Bh| 22778 2 |RE BEQ) EyE| 23375 3 BT EMWNQ 1| 24278| 4 |HK BZ(Q) ErEt| 24374
5 B HEHQ) =REch|  24478| 6 | KB FIE(Q) INSR| 24575| 7 [)ILF EETEQ) #yg-Fh|  24673| 8 |AIL EFQ2) KA 24977
9 KA #EXQ) SiEg | 2'5378| 10 [{AIEF ER©) sokeR| 254740 11 |[FERE BTEQ) #yg-mR| 25774) 12 |RE EFQ) ey 2'5978
13 |B% BEE(2) =Rh| 30670 14 BB %362 IMNRIRF| 3147
9/26 100mul 1 1|7k IEFQ2) EyEH 1675| 2 |EARBHREQ) Hi - TP 1872| 3 |Aw BHE2) Hi - TP 1879| 4 |{EBE #IE(2) = 1976
5 |HEHFIHREQ) = 1977| 6 [ILO FEHE(Q2) Etdi 1978| 7 |EiE EEQ MEH 2275
o/26 [PBEF | 1| agE EE) mES| 51679 2 B mED) =gd| 52572 3 [EE 2xe) =Wh| 52773 4 A FEO =Hh| 5357
5 (B EREW | 55673
BIRF =2(2) HEHAZEQ) RIE REIEQ2) ZH<(1)
9/26 1 1 [EH A ﬁ g,ﬁ% 5872| 2 |thifich jnl”L %i’ﬁﬂ; 5975 3 |FHEFMe *F]@izg’b‘% 1'0373| 4 |FEAH ﬁmﬁ%;—'éé% 105”1
4x100mR ZER(2) Al HEQ) it 129E(2) Sl BH(Q)
E,g ’é&'i(z) ’e H#F(2) i'%EJ ?Eﬁ(ﬂ ®E Iﬁé’ﬁ(z)
2 1 |ZErEm he B2 saal 2 jmEe s BE s570| 8 |#p e B %iﬁgg 560| 4 |+ LD s
?‘!&g %’EB SREXEW) i F22) T EEQ
s |=he Ahnran o7
o))
o/26 |OPEF | 1 |TE B = 1673] 2 |A0WERZEW) SRR 167
9/26 800m| ! 1 [RROLZD®0) =& 3'09”6

4/6



TH28FE MR PERMERTRAIELHERRS

LT GaletlS SRERR (X F iR

PRI A E B N B E L RS
HH B T A [br K2 e Rk iz K2 e ERE iz K2 e Rk iz K2 e ok |
i i 250 LA £ ) WD
55 WP - . Sl 3 01" =+ X 10" . g 02"
9/26 1 1 |EsyEHB KRB EEE(2) 5978| 2 |#RiH-FEHD Ea=IO) 10173| 3 |[EFB B A1) 10271| 4 &Ry -FHC iﬁ/i*gﬁém 103”70
4x100mR T FEh(2) Hif 5FIRA) TH EXQ2 ET B0
—mn HE ¥ i
i i sopaizn) 1090
MW E.(I) = =
FiE) Namas e
27 "8 2 |= R 00" = 00" . SH Fi% .
2 1| Bt BEAEALA) 59°6| 2 | =HRA EE EHEx1) 1'0072| 3 |#EHHA 2w BEQ) 1'0077| 4 | &R FHFRA EW EiR(2) 10170
BEA =75(1) Ik B0 WF #FF@ N FTEQ)
& _5D%Q)
5 |#Bii-FEehB ,f%gﬁ%%gg 10478
= HE BEQ)
9/26 »ﬁﬁ*ﬁm 1 1| =80 ErEd|  1m30| 2 B BFF) IMAESR|  1m20| 3 |BF FEA) FE+md|  imis| 3 K REQ HE+itith|  1mi5
3 (NI R2() #yk - TR 1m15
9/26 wigpk| 1 1 |EI. #E®M) oiEH 4m63| 2 |2 O BFF(2) oiEt am11| 3 & EE(Q) oiEt 3m88| 4 |dET AIA) =& 3m85
5 [ILT ZF#k(©2) E-dvles 3m81| 6 |KiE BHEQ) E-dvdes] 3mé5| 7 |HABEAQ i ibles) 3m54| 8 |FHEF E(1) #RI - T 3m48
9 (BHO EH() Rk - Fach 2m86
9/26 fangg| ! 1 |FF HOEQ k- TR Tm92| 2 [HERHDA(2) k- TR Tm38| 3 [EEFEAL() H+s Im14| 4 | KL HEQ) =eprifas 7m05
5 | KB i) A+t Tm04| 6 [FSETIEZR(2) KHHER 6mot1| 7 | RTEQ) Eftheh 6m61| 8 [ /NE(2) Efntheh 6m35
9 | fEXRM) EAH 6m08| 10 |F&JII #HTE() =i 5m79| 11 [E8H EB#(1) = 5m45| 12 [5kE #EE() #hk - Tk 5m43

5/6



T 28FE #HEHRPERMBATRAEELREXRE
EAR:201649826H

RERR (XF-F:H)

SRR S5 AOE B N BB L RIS
[FH[  #H [# & [ EZ FE ok SR EZ FE ok SR EZ FE ok EZ FE S
o/26 || FETF 100m| 1 1 |BIEEFEED mEF 1377| 2 &M@ fEEO) Hh - R 1472| 3 |THE B =B 1476| 4 |EEAFHIEEN) IR 1570
5 A EZEN) Et+mi 1571 6 |[/NEFEIE%R(T) EyEh 16”
2 1B ZFQ) ERiek - P 1379| 2 M2 F#HEEW) MEH 1472| 3 |BX REQ0) MEH 1570| 4 |KEXRZZEX) = 1575
5 | R W INRRA 1672| 6 |ZRELB(1) ERH 1674| 7 BT #(1) i - T 16”5
9/26 200m| ! 1 [FINLF &) HiEieh 2978| 2 (‘A FFE®) EyrEH 3071| 3 [V FE() MEH 3072 Him &) ERek - FE 3079
5 |FFfE B4R =i 32"
2 1 [kFE @) EyrEH 2977| 2 |RER #7H0) ERek - FE P 2978| 3 [EZCA() MEH 3375| 4 |EE EME() = 3470
o/26 [2FEF 100m| 1 (LS ) =i 1375| 2 |#k%r HTEQ) Etdi 1471 3 |HRE BEQ Y3 R 1571 AREDOEQR) ke 1579
5 @A #E2) bk 16”
2 1|38 BREOQ) Et+mi 1379| 2 |¥ EEQ) ERik - 7B 1476 3 |BIFF £E2) Y3 R 1576| 4 |&ZH #X2) MEH 1670
5 |th#t fETEQ) ERt 16"
3 1|/ TBHEXRQ ERH 1477 2 |RE X&Q) MEH 1477| 3 |58 £42 =10 1571 HEHBEQ s 1575
5 IMEHERQ Ht+mis 16”
9/26 200m| ! 1 |Etl 50 EyEHh 2975| 2 |FIRIZDH(2) fetinbiukes) 3174| 3 [IUF HFQ@ MEH 3178 WT 22 Etdi 3278
5 |/ XE®2 g 34"
2 1A &) Et+mi 3075| 2 (& fERQ) = 30”8 3 BT E®© ARk - T 3173| 4 BE $HFEQ2) B 3276
5 | KEFHREQ) EyrEH 33"
3 1 | FIELZFQ2) EyEHh 3075| 2 [BK BH}Q@) Y3 R 3077| 3 [/MR FE4(2) MEH 3270| 4 |HHE B&HQ) ERH 3579

6/6



